## Si nction Register for Scholarship

Go smment of Chhattisgarh

Scholarship Scheme

Institute Name

Post Matric OBC Scholarship

Category

OBC

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Anadamia Vant 2010 10

Government of Chhattisgarh

Sanction Number

N/8/2411/3/10/88678

Sanction Date

10/04/2019

Applications Type Fresh

	Academic Year: 2018-19						Applications	Type: Fres	in		
Appl	lication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	1585495 POSHAN PATEL	Female	B. A./Arts/I	Fresh	8	70	560	0	1273	1273	1833
	1549345 MANDAKANI CHANDRAVANSI	I Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
•	1604875 SWATI YOGI	Female	B. Sc./Science/I	Fresh	10	70	760	0	1303	1303	2003
	1602929 LAXMI CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1509307 NAMESHWARI SAHU	Female	B. Sc./Science/I	rest:	10	70	700	0	1303	1303	2003
	1600033 PURNIMA YADAV	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
	1587706 ANJU CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
	1588802 NIDHI CHANDRAVANSHI	Female	B. Cc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1586750 TIKESHWARI SRIWASH	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1273	1273	1903
	1582340 VIBHA JAISAWAL	Female	B. Com./Commerce/I	Fresn	9.	70	630	0	1273	1273	1903
	1588490 BINDU KAUSHIK	Female	B. Com./Commerce/I	Fresn	10	70	700	0	1273	1273	1973
	1530458 KAVITA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
	1588748 BHARTI SINHA	Female	B. Sc./Science/I	Fach	9	70	630	0	1303	1303	1933
	1551158 SAKUN VISHWAKARMA	Female	E. A./Arcs/I	Freeh	9	70	630	0	1273	1273	1903
	1582842 DIVYA VARMA	Female	B, Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1578681 YURANI SAHU	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1273	1273	1903
	1588866 RANU SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

ament of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category OBC

Institute Name G RAJMATA VIJYARAJE SINDIHIYA GIRLS COLL

KAWARDHA

tate

Government of Chhattisgarh

Sanction Number

N/8/2411/3/10/88678

Sanction Date

10/04/2019

		RAVARDI											
Applicatio	Academ	ic Year 2018-19 Student Name	Gender		Course	Туре	No. of	Rate	Maintenence	Applications Tuition Fee		Total Fee	Total Amount
P. L	1 14 14						Month	4 4	Allowance			1.8	1
148	6693 PINKY O	HANDRAVANSHI	Female	B. A./Art	<b>1</b> 5/I	Fresh	10	70	700	0	1273	1273	1973
151	4173 SANGITA	SAHU	Female	B. A./Art	ts/1	Fresh	10	70	700	0	1273	1273	1973
154	9626 POOJA K	KAUSHIK	Female	B. Com./	/Commerce/1	Fresh	9	70	630	0	1273	1273	1903
154	9935 AARTI K	AUSHIK	Female	B. Com./	/Commerce/I	Fresh	10	70	700	0	1273	1273	1973
158	6475 MANTOR	A PATEL	Female	P. A./Art	ts/I	Fresh	10	70	700	0	1273	1273	1973
158	8111 LATA PA	TEL	Female	B. A./Art	ts/I	Fresh	10	70	700	0	1273	1273	1973
158	6764 KOSHILY	A JAISWAL	Female	B. A./Art	ts/I	<sup>c</sup> resh	9	70	630	0	1273	1273	1903
157	'8948 DEEPANJ CHANDR	DALI AVANSAHI	Female	B. Com.	/Commerce/I	:Fresh	10	70	700	9	1273	1273	1973
158	0855 DIVYA C	CHANDRAVANSHI	Female	B. Com.,	/Commerce/I	Fresh	10	70	700	0	1273	1273	1973
154	6921 KIRTI C	HANDRAVANSHI	Female	B. Com.	/Commerce/I	Fresh	10	70	700	0	1273	1273	1973
157	8122 KIRTI S	AHU	Female	B. Sc./Sc	cience/I	Fresh	10	70	700	0	1303	1303	2003
15	6975 MANISHA	A JAISWAL	Female	B. A./Art	ts/I	Fresh	9	70	630	0	1273	1273	1903
158	2109 AHILYA	SAHU	Female	B. Sc./Sc	cience/I	Fresh	10	70	700	0	1303	1303	2003
150	3899 INDU SA	AHU	Female	B. Sc./Sc	cience/I	Fresh	9	70	630	0	1303	1303	1933
. 157	9310 BHUNESI	HWARI YOGI	Female	B. Sc./Sc	cience/I	Fresh	9	70	630	0	1303	1303	1933
150	5168 GANGA	SAHU	Female	B. Sc./Sc	cience/I	Fresh	9	70	630	0	1303	1303	1933
150	7979 MAHESH	WARI KAUSHIK	Female	B. Sc./So	cience/I	Fresh	10	70	700	0	1303	1303	2003

#### Declaration:

Place :

Date :

(Signature & pental pent of the Institution)
Name (Cepital English College

Mayarcha Distr.-Kabirdham (C.G.



ment of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

> Category OBC

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Government of Chhattisgarh

Sanction Number

N/8/2411/3/10/88678

Sanction Date :

10/04/2019

	TO TO TO TO							Sanction	Date: 10/04	4/2019	
Appl	Academic Year 2018-19 Student Name	Gende	Course	Туре	No. of	Rate Mai	ntenence		Type: Fresi		Total Amount
	1568115 ANJANI KAUSHIK	Female	B. Sc./Science/I	Fresh	Month	A	lowance	1	3,00		Total Amount
	1563802 JYOTI KAUSHIK	Female	B. Sc./Science/I		9	70	630	0	1303	1303	1933
	1528127 RITU SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
	1529266 DEVKUMARI SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1551000 CHANCHAL VERMA	Female	B. A./Arts/I	Fresh	9	70	630	0	1303	1303	1933
	1575307 JYOTI JAISWAL	Female		Fresh	9	70	630	0	1273	1273	1903
	1579719 GYAN BAI SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
	1576618 SEEMA CHANDRAVANSHI		B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	1578980 NITESHIYA PATEL	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	1578316 PRAGATI CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
		Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	
	1577799 GITANJALI SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	1933
	1568764 ANJALI SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273		2003
	1577196 DIVYA SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0		1273	1903
	1568415 POORNIMA SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1576090 ANNU CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	630		1303	1303	1933
	1576277 PRIYANKA SAHU	Female	B. Sc./Science/I	Fresh	10	70		0	1273	1273	1903
	1560794 KAVITA SAHU	Female	B. Sc./Science/I	Fresh	9	70	700	0	1303	1303	2003
	1577971 NEELU SAHU	Female	B. A./Arts/I	Fresh	10		630	0	1303	1303	1933
eclarat	tion :			1	10	70	700	0	1273	1273	1973

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

(Signature & Seal and Name Gardit & Letters B. Girls Giller awerdhe, Distr.-Kabirdham (C.G.

ament of Chhattisgarh

Scholarship Scheme

Post Matric OBC Scholarship

Category

OBC

Institute Name

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL. KAWARDHA

Government of Chhattisgarh

Sanction Number

N/8/2411/3/10/88678

Sanction Date

10/04/2019

	KAWARD	HA								2	
Appl	Academic Year 2018-19 ication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Applications Tuition Fee	Other Fee		Total Amount
· ·	157777 ANNI CANII	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
	1577271 ANJU SAHU 1577042 PRITI SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	15/7042 PRITI SAHU 1549059 UPASNA KAUSHIK	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	1973
	1580448 AARTI YADAV	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
•	1550389 JIGYASA CHANDRAVANSHI	Female	B. Sc./Computer Science/I	Fresh	10	70	700	0	1303	1303	2003
	1558186 RINKI CHANDRAVANSHI	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1273	1273	1903
	1574143 RITU SEN	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1547143 PRATIMA JAISWAL	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1562344 KALYANI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	1567792 MADHU KAUSHIK	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	1973
	1567564 MAMTA KAUSHIK	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
	1567300 SONIYA KUMBHAKAR	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
	1565908 MAMTA SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1567929 ANUSUIYA SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
	1532530 TULESHVARI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	_0	1273	1273	1973
	1574746 RASHMI CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1563942 BHARTI SAHU	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	1973
	1521854 DIPTI KUMBHKAR	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the condidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

(Signature & Seal of Read Strife Institution)
Name (Copied), Leters 7. S. Girls Gellege Quarette, Dietc.-Kabirdham (C.G.



ament of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Government of Chhattisgarh State

N/8/2411/3/10/88678 Sanction Number

Sanction Date: 10/04/2019

	Academic Year: 2018-19							Applications	Type: Fres		
Applicati	on ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
15	573169 SHRADDHA SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
15	572738 SUMAN VERMA	Female	B. Sc./Computer Science/I	Fresh	10	70	700	0	1303	1303	2003
15	572997 JYOTI SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
15	570743 PUJA YADAV	Female	B. A./Arts/I	Fresh	, 10	70	700	0	1273	1273	1973
1	561091 SHIVRANI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1	574151 DURGA SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1	576826 NARMDA SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
1	576329 KAMNI PATEL	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
1	585339 VIDYA JAISAWAL	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
1	596099 MANISHA TANDIYA	Female	B. Sc./Science/I	Fresh	10	70	700	_0	1303	1303	2003
1	547272 PRIYANKA CHANDRAVANSHI	Female '	B. Sc./Science/I	Fresh	. 10	70	700	0	1303	1303	2003
1	.538998 BABLI TANDIYA	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1	519173 NEHA PATLE	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	.481969 MAHESHWARI CHANDRAVANSHI	Female	B. A./Arts/III	Fresh	8	85	680	0	1273	1273	1953
1	500782 TARUN KUMARI	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1	559744 DIVYA PATEL	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
• 1	545938 NEHA VERMA	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date: (Signature & Seal of HEALING Matitution) Name (Copital Larens R.S. Girls Gollege Wardha, Distr.-Kabirdham (C.G.

ament of Chhattisgarh

Scholarship Scheme

Post Matric OBC Scholarship

Category OBC

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Government of Chhattisgarh

Sanction Number: N/8/2411/3/10/88678

Sanction Date: 10/04/2019

Academic Year	2018-19			Applications Type : Fresh
plication IO Student	Name Gender	Course	Type No. of Rate Maint	tenence Tuition Fee Other Fee Total Fee

Application I	Student Name	Gender	Course	Туре	No. of Rate Month		Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
156458	9 AASTHA CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
156491	9 KARUNA KASHYAP	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
155060	9 SHOBHA SHRIVAS	Female	B. A./Arts/I	Fresh	9,	70	630	0	1273	1273	1903
156395	0 SUNDARI SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
153254	4 LAXMI SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
153161	4 PRIYANKA YOGI	Female-	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
156621	1 TULESHVARI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
156391	5 MANISHA JAISWAL	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
15675	58 REVATI SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
153624	11 ANSHU CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
149118	84 KHEMIN JAISWAL	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
15503	38 SAVITA PALI	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
154588	32 RAJKUMARI SEN	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
15210	58 AKHILESHWARI JAISWAL	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1273	1273	1903
15157	79 KAMNEE JAISWAL	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
155009	3 DAMINI SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
15566	40 LAXMIN JAISWAL	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
15423	09 KHEMLATA SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date: Name (Capital Leters ... S. awardha, Distc-Kabirdham (C.G.

ament of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

**KAWARDHA** 

State:

Government of Chhattisgarh

Sanction Number :

N/8/2411/3/10/88678

Sanction Date:

10/04/2019

Anti-	Academic Year : 2018-19							Applications	. T		
100	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence	Applications Tuition Fee			Total Amount
	1529961 RADHA PATEL	Female	B. A./Arts/I	Fresh	Month 9	70	Allowance 630		10.2M		
	1539697 TULSI SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1273	1273	
	1548316 KALYANEE SAHU	Female	B. Sc./Computer Science/I	Fresh	9	70	630	0	1303	1303	
	1531046 DHANAIYA YADAV	Female	B. A./Arts/I	Fresh	10	70		0	1303	1303	1
	1540271 SEEMA PATEL	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	1540648 LAXMI PATEL	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	1524495 VARSHA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	700	0	1273	1273	1973
	1547283 TAMESHWARI PATEL	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
	1531325 DIPMALIKA KAUSHIK	Female	B. A./Arts/I	Fresh	10	70	630	0	1273	1273	1903
	1546983 URMILA KAUSHIK	Female	B. A./Arts/I	Fresh	10		700	0	1273	1273	1973
	1531596 KUNTI SAHU	Female	B. A./Arts/I	Fresh	10	70 70	700	. 0	1273	1273	1973
	1531863 RAJKUMARI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	1532136 PURNIMA SAHU	Female	B. A./Arts/I	Fresh	10	100,50	700	0	1273	1273	1973
	1522638 PRITI VERMA	Female	B. A./Arts/I	Fresh		70	700	0	1273	1273	1973
	1530283 AARTI JAISWAL	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	1540623 PINKI NISHAD	Female	-	-	9	70	630	0	1273	1273	1903
	1497633 TULESH PATEL		B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
		Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1509743 PINKI CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	700	9	1303	1303	2003

#### Declaration:

Place :

(Signature & Seal of PRINE PAINS Itution)
Name (Gaputa) REVERS. Girls Gollege





Scholarship Scheme: Post Matric OBC Scholarship

Category OBC

Institute Name: G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

State

Government of Chhattisgarh

Sanction Number

N/8/2411/3/10/88678

Sanction Date:

10/04/2019

Applications Type: Fresh

	Academic Year : 2018-19							Applications			
A	pplication ID Student Name	Gender	Course	Туре	No. of Month	STATE OF THE PARTY OF	intenence Tu lowance	ition Fee	Other Fee	Total Fee	Total Amount
	1507587 LALITA SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
•	1535358 KALYANI SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
	1507267 PRATIMA SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
	1541092 DALESHWARI CHANDROL	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
	1518589 VIDYA CHANDRAVANSHI	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	1973
	1517752 PRIYANKA CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1515832 NANDANI CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	1531208 KAVITA PALI	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	1530582 PINKI SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
	1510053 VARSHA CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1530907 MANJU CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
	1518527 ANSHU MANIKPURI	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
	1520603 POONAM CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	1509549 MANJU SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	1511331 SILOCHANI JAISWAL	Female	B. A./Arts/I	Fresh	10	<b>7</b> 0	700	0	1273	1273	. 1973
	1486349 SUMAN SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
	1512570 LUKVA SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	1512555 GAYATRI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
Do	claration :										

#### **Declaration:**

Place : Date : (Signature & Sea of Head of the Boilego Name (Capital Leters) Kabirdham (C.C.



ment of Chhattisparh

Scholarship Scheme Post Matric OBC Scholarship

Category OBC

Institute Name

G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

State

Government of Chhattisgarh

Sanction Number

N/8/2411/3/10/88678

Sanction Date

10/04/2019

KAVVAN	KUHA									
Academic Year 2018-1	· · · · · · · · · · · · · · · · · · ·	Course 4	Tune	noticed the life.	Table . P. Jakes		plications Ty			Total Amount
	A PER LE			Month		lowance				Total Autouric
1519714 LALITA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1512577 KHILESHWARI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1510354 MAHESHWARI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1494208 MAMTA CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
1509451 AARTI DEWANGAN	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
1517156 TULSI CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
1498619 ANJANI CHANDRAVANSH	I Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1503989 SEVATI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1491676 VANDANA CHANDRAKAR	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	1933
1485033 PURNIMA CHANDRAVNSI	HI Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
1484998 JAMOTRI CHANDRAVANA	SHI Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1486949 MAMTA SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1485070 KASHISH CHANDRAVANS	SHI Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
1549083 DURGESHWARI PATEL	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
•					Total:	103440	0	199325	199325	302765

#### Declaration:

Place :

(Signature & Seal propagate Institution)
Name Goeitel Lyter : Girls College
Tawardha Distr - Kabirdham (C.G.



ment of Chhattisgarh

ee=53

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number : R/8/2411/3/10/88853

Sanction Date: 10/04/2019

Applications Type: Renewal

	The Sales of the s							Applications	Type . Reli	ewai	
Applic	ation ID Student Name	Gender	Course	Туре	No. of Month		Intenence Ilowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	729286 POORNIMA SAHU	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1287069 Riti Chandravanshi	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
	1541526 BHAVNA RAHANGDALE	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
	1379229 MADHU DEVI CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
•	1360130 PINKI SINHA	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1253318 ARTI CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
	1372120 SANGEETA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1278986 HEMLATA PATEL	Female	R. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1364075 AARTI CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
	1525757 LOKESHWARI NIRMALKAR	Female	P. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
	1327163 DURGA CHANDRAVANSHI	Female	B. A./Arts/II	∴enewa!	8	85	680	0	1273	1273	1953
	1281205 UMA PATEL	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
	1486189 MANJU SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	
	1510906 NEMA BAI	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
	1350363 RITU JAISWAL	Female	B. A./Arts/II	Renewal	8	85	680	0	1273		1983
	934394 Annapurna Chandravanshi	Female	B. A./Arts/III	Renewa!	8	85	680	0		1273	1953
	1322589 HEERA KUMARI SAHU	Female	B. A./Arts/II	Renewal	8	85			1273	1273	1953
	-			r.c.icwai	0	65	680	0	1273	1273	1953

#### **Declaration:**

Place:

Date :

Signature & Seal of the Institution)
Name (Custic Detector)
Name (Custic Detector)
Distr.-Kabirdham (C.G.



Ment of Chhattisgarh

Scholarship Scheme

Post Matric OBC Scholarship

Category

OBC

Institute Name

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

Female

KAWARDHA

State

Government of Chhattisgarh

Sanction Number

R/8/2411/3/10/88853

Sanction Date

10/04/2010

Academic Year 2019 10				Sanction Date : 10/04/2019						
Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence	Applications Tuition Fee	Type : Ren	wal Total Fee	Total Amount
1253047 JANKEE YADAV	Female	B. Sc./Science/III	Renewal	Monjai 8	0.5	Allowance	The Alexander		10 M 11	A <sub>4</sub>
975826 BHARTI NISHAD	Female	B. Sc./Science/III	Renewal	,	85	680	0	1303	1303	1983
1371913 CHANDRIKA PATEL	Female	B. Sc./Science/III	1100	8	85	680	0	1303	1303	1983
	500 February 1000 1000	the set our of location	Renewal	8	85	680	0	1303	1303	1983
1528338 SANDHYA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
1527433 PRABHA CHANDRAKAR	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
1351086 SHARDA JAISWAL	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1520270 LAXMI CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1933
1245659 PREETI CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
1371239 NEELAM SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303		
1239475 RANI CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8			0.70		1303	1983
			Renewal	8	85	680	0	1273	1273	1953
1325008 RAJKUMARI NISHAD	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1381019 JYOTI KUMBHKAR	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
1536541 ANITA SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
1228508 HEMLATA CHHURE	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
1254182 MANJU YADAV	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
1343856 PRIYA CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1486361 MANJOO PATEL	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983

#### **Declaration:**

1332427 RITU SINHA

Renewal

8

85

680

0

Place:

Date :

(Signature & Spanish fear of the Institution)
Nemericanital Baters in the Institution)
Nemericanital Baters in the Institution)
Nemericanital Baters in the Institution)

1273

1273

1953



B. A./Arts/II

ent of Chhattisgarh

Scholarship Scheme

Post Matric OBC Scholarship

Category

OBC

Institute Name

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

State :

Government of Chhattisgarh

Sanction Number

R/8/2411/3/10/88853

Sanction Date

10/04/2019

NAWARDI		Sanction Date : 10/04/2019									
Application ID Student Name	Gender	Course	Туре	No. of	7.1		tenence 1	Applications	Type Rer	Total Fee	Total Amount
1322642 SAVITA CHANDRAVANSHI	Female	B. A./Arts/II	Renewal		8		wance		7 7		
1498629 BHARTI CHANDRAVANSHI	Female	B. A./Arts/II	Renewal		_	85	680	0	1273	1273	1953
1535860 LAKSHMI SAHU	Female	B. Sc./Science/II			8	85	680	0	1273	1273	1953
1323884 KAVITA Chandravanshi	Female	B. A./Arts/II	Renewal		8	85	680	0	1303	1303	1983
1537939 PUJA KASHYAP			Renewal		8	<b>8</b> 5	680	0	1273	1273	1953
1234822 ANAMIKA JAISWAL	Female	B. A./Arts/III	Renewal		8	85	680	0	1273	1273	1953
	Female	B. A./Arts/III	Renewal		8	85	680	0	1273	1273	1953
1435272 KAUSHILYA CHANDRAKAR	Female	B. Sc./Science/II	Renewal		8	85	680	0	1303	1303	1983
1351920 KEVARI PALI	Female	B. A./Arts/II	Renewal		8	85	680	0	1273	1273	1953
1268449 NEERA SINHA	Female	B. A./Arts/III	Renewal		7	85	595	0	1273	1273	1868
1287036 SANGEETA PATEL	Female	B. Sc./Science/III	Renewal		7	85	595	0	1303	1303	1898
1445196 KHUSHBU VAISHNAV	Female	B. Sc./Science/II	Renewal		8	85	680	0	1303	1303	1983
1113455 PUJA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal		8	85	680	0	1273	1273	1953
1327406 MANJULATA VARMA	Female	B. A./Arts/II	Renewal		8	85	680	0	1273		Section of Pro-
1392386 MAMTA PAL	Female	B. Sc./Science/III	Renewal		8	85	680	0		1273	1953
1515084 AHILYA SAHU	Female	B. Sc./Science/II	Renewal		8	85			1303	1303	1983
1361016 NANDNI NISHAD	Female	B. Sc./Science/II					680	0	1303	1303	1983
1349592 SAVITA SAHU	8.0.75.00025.007.0		Renewal		8	85	680	0	1303	1303	1983
	Female	B. Sc./Science/II	Renewal		8	85	680	0	1303	1303	1983
1349257 SEEMA CHANDRAVANSHI	Female	B. A./Arts/II	Renewal		8	85	680	0	1273	1273	1953

#### Declaration:

Place :

(Signature & SPRINGER Of the Institution)
Name (Childre Ser Girls College
Cawardha, Distr.-Kabirdham (C.G.

MR of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

> Category OBC

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

State

Government of Chhattisgarh

Sanction Number

R/8/2411/3/10/88853

Sanction Date

10/04/2019

A LINES	Academic Year 2018-19						An	plications Ty	e Ren	eal	
20.00	Student Name	Gender	Course	Type	No. of Month			on Fee Ot			Total Amount
	1160410 ANITA DHANKAR	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1545484 YASHOMATI SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
	1546837 AASHA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1257962 MANISHA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1246143 SARITA YADAV	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1332306 PRATIBHA CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
•	1437436 PUNIYA SAHU	Female	B. Sc /Science/II	Renewal	8	85	680	0	1303	1303	1983
	1529211 MILAPA PATEL	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1390598 GAYATRI VARMA	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1438165 RAJMATI VERMA	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1260180 CHANDRAKNTI YADAV	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
	1369816 RESHMI SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
	1322678 AARTI SINHA	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1322511 SAMTA NIRMALKAR	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1374059 INDRANI CHANDRAKAR	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1345320 DULESHWARI SAHU	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1390746 RASHMI KAUSHIK	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
	1375462 KIRAN PATEL	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it/s detected.

Place : Date :

(Signature & Sear of the Institution) Name (Capita Meters) Giris Mawardha, Bistr.-Kabirdham (C.G.

ment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Category OB(

Institute Name: G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

tate: Government of Chhattisgarh

Sanction Number: R/

R/8/2411/3/10/88853

Sanction Date

10/04/2019

	NAVVARUE										
No. of the last of	Application ID Student Name	Gender	Course	Туре	No. of Month		aintenence Allowance	Applications Ty		ewal	Total Amount
•	1493858 NAGESHWARI SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
	1521538 SEEMA TURKAR	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1332682 NISHA CHANDRAWANSHI	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1512805 AYUSHI CHANDRAWANSHI	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1399180 LAKSHWANTIN YADAV	Female	B. Com./Commerce/II	Renewal	9	85	765	0	1273	1273	2038
	1486591 HEMBAI PATEL	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1329934 MANJULATA SAHU	Female	B. Com./Commerce/II	Renewal	9	85	765	0	1273	1273	2038
	1245492 ANJANI CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
	998259 YOGITA SAHU	Female	B. Sc./Computer Science/III	Renewal	8	85	680	0	1303	1303	1983
	1509215 DROPATEE SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
	1385756 DHANESHWARI SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
	1271552 GULAPA DEWAGAN	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1343554 NITU VISHWAKARMA	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
	1398978 SUREKHA PATEL	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1431987 LOGITA CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
	1402152 KOVISHA CHANDRAKAR	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
	1610233 PUSHPA PATEL	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
	1234871 RAMESHWARI JAISWAL	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953

#### Declaration:

Place : Date : (Signature & Seal PHING HALL Institution)
Name (Gapi RI, VERIS; GIT'S College

wardha, Distr.-Kabirdham (C.G.



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Academic Year

1592262 SHAHIDA BEGAM

1400609 BHARTI CHANDRAVANSHI

1589011 AARTEE CHANDRAVANSHI

1558011 SHWETA PALI

Institute Name : G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

Female

Female

Female

Female

KAWARDHA

2018-19

State :

Government of Chhattisgarh

Sanction Number:

Applications Type

0

0

0

0

680

680

680

680

1273

1303

1303

1303

1273

1303

1303

1303

1953

1983

1983

1983

R/8/2411/3/10/88853

Sanction Date :

10/04/2019

Renewal

Application ID Student Name	Gender	Course	Туре	No. of Ra		Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1329807 YOGESHWARI JAISWAL	Female	B. Com./Commerce/II	Renewal	8	85	680	0	1273	1273	1953
1514717 SITA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
1334372 RUKHMANI CHANDRAVANSH	II Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1321200 radhika sahu	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1609556 KIRAN SAHU	Female	B. Com./Commerce/II	Renewal	9	85	765	0	1273	1273	2038
1607399 BHARTI CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
1602686 DURGESHWARI CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
1602086 GUNJESHWARI SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
1424161 JYOTT CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
1593447 KAVITA NISHAD	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
1600819 MANJU CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1273605 ASHWANI CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
1547720 RUBEENA KHAN	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953

8

85

85

85

85

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ................Out of which Rs. ...............as maintenance allowance and Rs. ...............as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Renewal

Renewal

Renewal

Renewal

Place :

(Signature & Sear of Head of the Institution)
Narco(CapflaMeters) Girls College)
Capflam Distr.-Kabirdham (C.G.

B. A./Arts/II

B. Sc./Science/III

B. Sc./Science/III

B. Sc./Science/II

sent of Chhattispain

Scholarship Scheme

Institute Name

Post Matric OBC Scholarship

Category OBC

G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

Government of Chhattisgarh

Sanction Number

R/8/2411/3/10/88853

Sanction Date

10/04/2019

S. Park Street	1 -2	Academic Year	2018-19						App	lications Type	a. Renew	al	
	DIQ ILLO	Studen 1	t Name	Gender	Course	Type	Mo. of	THE RESERVE OF THE PERSON NAMED IN	ntenence Tuitic	on Fee Oth	er Fee	otal Fee Tot	al Amount
15	82682	PRITI CHANDR	AVANSHI	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
15	88752	MENKA CHAND	RAKAR	Female	B. A./Arts/11	Renewal	8	85	680	0	1273	1273	1953
15	590001	SALMA BANO		Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
14	438178	DURGESHWRI CHANDRAVANS	SHI .	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
(	660348	DEEPIKA SINH	IA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
1	516629	ALKA CHANDR	AVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
1	233 <b>5</b> 62	ANJANI CHAN	DRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
. 1	586418	RITU CHANDR	AVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
1	360065	SANGITA NIRI	MLAKR	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1	563733	KAUSHILYAA	SAHU	Male	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
1	236501	SARITA SAHU		Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
1	581242	DHANESHWAR	I SINHA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
1	400111	SHARDA VERN	AA	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
1	1210316	PIYUSH KUMA	IRI	Male	B. Sc./Computer Science/III	Renewal	8	85	680	0	1303	1303	1983
1	1553139	SUNITA OO		Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
1	1513993	RASHMI CHAP	NDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
1	1364850	DURGESHVAR	SHRIVAS	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
Declarati													

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

(Signature & See Children of the Institution) Downwidhe, Distr.-Kabirdham (C.G.

Page 7/11

ment of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category: OBC

Anndami- W

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

State: Government of Chhattisgarh

Sanction Number: R/8/2411/3/10/88853

Sanction Date: 10/04/2019

£ 32-1	Academic Year 2018-19										
Applic	Student Name	Gender	Course	Type	No. of Month		ntenence Tui	pplications T tion Fee O	ype Renewa		Total Amount
	1362879 NANDRANI SAHU	Female	B. A./Arts/II	Renewal	8	85	owance 680		1272	1272	
	1258366 SURUCHI CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
•	1287295 BHAGVATI KAUSHIK	Female	B. Sc./Science/III	Renewal	8	85		0	1273	1273	1953
	1585938 SEEMA YOGI	Female	B. A./Arts/II	Renewal	8		680	0	1303	1303	1983
	1361146 DHIRAJ SAHU	Female	B. Sc./Science/III	Renewal	×	85	680	0	1273	1273	1953
	1582336 VAISHALI DEEPAK	Female	B. Sc./Science/III		8	85	680	0	1303	1303	1983
	1535022 DIPIKA YADAV	Female	B. A./Arts/III	Renewal	8	85	680	0	1303	1303	1983
	1578373 KUMARI NEETU RAJAK	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1335684 RAJRANI PATEL	Female		Renewal	8	85	680	0	1273	1273	1953
	1371844 NEELAM SAHU		B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1536158 BIMLA CHANDRAVANSI	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
		Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
	1273070 KU MADHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
	1568141 PAMPA SAHU	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1365518 DIVYA SAHU	Female	B. A./Arts/II	Renewal	8	85	680	9	1273	1273	1953
	1556343 PUSHPA SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
	1574553 DURGA CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
	1266268 VIDYA CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal	8	85	680	0 .	1303	1303	1983
	1277838 REENA SINHA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	
Declarat	tion :						-30		1505	1303	1983

### **Declaration:**

Place :

Date:

(Signature & Sear of the Institution



ment of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

> Category OBC

Academic Year

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

2018-10

State

Government of Chhattisgarh

Sanction Number

R/8/2411/3/10/88853

Sanction Date 10/04/2019

Appli	cation ID Student Name	Gender	Course	Туре	No. of	* Dista	Maintenence	Applications			
	1374500 APT CHARLES			1913	Month	1	Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	1374500 ARTI CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1053
	1573039 MALATI YADAV	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303		1953
	1344023 PRITI SAHU	Female	B. A./Arts/II	Renewal	8	85	680		100000000000000000000000000000000000000	1303	1983
	1221417 pallavee kaushik	Female	B. Sc./Science/II	Renewal	8	85		0	1273	1273	1953
	1515413 PARMESHWARI	Female	B. A./Arts/III	Renewal			680	0	1303	1303	1983
	CHANDRAWANSHI			Nericvai	8	85	680	0	1273	1273	1953
	1380839 SHAKUN KUMARI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1361266 PRATIBHA SAHU	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1361861 SEEMA KASHYAP	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	
	1551013 TINU CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	8	85	680	0	1273		1983
	1529623 DURGA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0		1273	1953
	1369860 KAWITA CHHURE	Female	B. A./Arts/III	Renewal	8	85	680		1273	1273	1953
	1556507 NEHA NISHAD	Female	B. Sc./Science/II	Renewal	8	85		0	1273	1273	1953
	1563986 GAURI CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal	8		680	0	1303	1303	1983
	1564156 SEEMA CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal		85	680	0	1303	1303	1983
	1439881 ASMIN DEWANGAN	Female	B. Sc./Computer Science/II		8	85	680	0	1303	1303	1983
•	1292684 PRIYANKA GOSWAMI	Female	1	Renewal	8	85	680	0	1303	1303	1983
	1496820 DIKSHA SAHU		B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1430020 DINSHA SANO	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
Deste											

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs. .....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Wordha, Distr.-Kabirdham (C.G.



ent of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

> Category OBC

Institute Name

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Government of Chhattisgarh

Sanction Number R/8/2411/3/10/88853

Sanction Date: 10/04/2019

	Academic Year : 2018-19							Applications T			
- Applic		Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Applications T Tuition Fee C			Total Amount
	1565532 NEMA SAHU	Female	B. Com./Commerce/II	Renewal	9	85	765	0	1273	1272	2020
	1289253 GAYATRI SAHU	Female	B. A./Arts/III	Renewal	8	85	680	0	67404GBC=X	1273	2038
	1325225 SHIVRANI JAISWAL	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1278702 POOJA NIRMALKAR	Female	B. A./Arts/III	Renewal	8	85	680		1273	1273	1953
	1564018 SANGEETA SAHU	Female	B. A./Arts/III	Renewal	8	85		0	1273	1273	1953
	1345850 UMA PATEL	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1135839 NIMMI VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1273	1273	1953
	1345266 PINKI SAHU	Female	B. A./Arts/II	Renewal	8	85	680	0	1303	1303	1983
	1435206 PREETI CHANDRAKAR	Female	B. Sc./Science/II	Renewal	8	85	680	0	1273	1273	1953
	1370505 SADHANA CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
•	1373797 KUSUM CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	1983
	1546051 CHANDRAMA YADAV	Female	B. A./Arts/III	Renewal	8		680	0	1303	1303	1983
	1548144 KEVRA SAHU	Male	B. Sc./Science/II	Renewal	8	85	680	0	1273	1273	1953
	1234828 KAMESWARI SAHU SAHU	Female	B. A./Arts/III	Renewal	-	85	680	0	1303	1303	1983
	1554756 ANJALI SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0	1273	1273	1953
	1277158 RAGINI PALI	Female	B. A./Arts/III		8	85	680	0	1303	1303	1983
	1234517 MAMTA CHANDRAWANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1554901 MANISHA JAISWAL	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
Doolors		remale	D. A./AID/II	Renewal	8	85	680	0	1273	1273	1953
Declara	LIOII .								the second secon		

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it/19 detected.

Place: Date:

(Signature & Senting the Institution) Mont Child Read Iris College The Distr-Kabirdham (C.G.



gent of Chhattisparh

Scholarship Scheme

Post Matric OBC Scholarship

Category OBC

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

Government of Chhattisgarh

Sanction Number

R/8/2411/3/10/88853

Sanction Date

10/04/2019

11 25	Academic Year 2018-19							Applications T	vpe Rene	wal	
N On	ation ID Student Name	Gender	Course 5	Туре	No. of Month	Rate Mai		uition Fee C		Total Fee	Total Amount
	1486024 DIVYA JAISWAL	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1268131 RADHIKA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1505335 LAXMI CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1554378 SANGEETA CHANDRAVANSH	I Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
•	1492898 REETU CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1505288 GAYATRI CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	1953
	1550629 OMBAI SAHU	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	1329750 VINTI CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
						Total:	125290	0	236662	236662	361952

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place Date

Page 11/11

wurdha, Distr.-Kabirdham (C.G.

ent of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category

OBC

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Academic Year: 2018-19



Government of Chhattisgarh

Sanction Number

N/8/2411/3/10/89641

Sanction Date:

10/04/2019

Applications Type: Fresh

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1469277 MANKI SINHA	Female	B. A./Arts/I	Fresh	9	70	. 630	0	1273	1273	1903
		The state of the s			Total:	630	0	1273	1273	1903

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs. .....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

ent of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

> Category OBC

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

Academic Year: 2018-19



Government of Chhattisgarh State:

N/8/2411/3/10/89934 Sanction Number

01/04/2019 Sanction Date

Applications Type: Fresh

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate.	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1469389 SAKSHI NAMDEV	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1273	1273	1903
		- 4			Total :	630	0	1273	1273	1903

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

wordha, Distc-Kabirdham (C.G.

of Chhattisgarh

Scholarship Scheme Post Matric ST Scholarship

Category

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

Academic Year 2018.10

State

Government of Chhattisgarh

Sanction Number

N/8/2411/2/7/87577

Sanction Date

26/03/2019

Applications Type

	Academic Year 2018-19	Applications Type Tress.									
Applic	ation ID Student Name	Gender	Course	Туре	No. of Month		intenence Mowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	1553364 SATYAMA NETAM	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
	1586806 KIRAN MARKAM	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
	1591139 SANTOSHI MARKAM	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
	1588681 ROSHNI MERAVI	Female	B. A./Arts/I	Fresh	10	300	3000	_0	1273	1273	4273
	1581602 DEVKI TEKAM	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	1273	1273	3973
	1589287 RUPIKA MARKAM	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1589624 SULEKHA MARKAM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
	1579148 SATRUPA DHURWE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
	1507836 SANTOSHI NETAM	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
	1503201 SUNDARI BHAGAT	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1508738 BHUNESHWARI MARKAM	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
	1510115 RAJNI DHURWE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1518173 REVATI CHHEDAVI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1504137 DEVANTIN NETAM	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
	1530534 NEETU MARKAM	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
	1489369 PRIYANKA MARKAM	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1488928 SANGEETA MERAVI	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period t is detected.

Place: Date: (Signature & September of the Institution)
Name (Paper & Carls College)
Swardha. Distc.-Kabirdham (C.G.

t of Chhattisgarh

Scholarship Scheme Post Matric ST Scholarship

Category

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA



State Government of Chhattisgarh

Sanction Number N/8/2411/2/7/87577

Sanction Date: 26/03/2019

	Acadomia Vans	2040.40										
Application	Academic Year  Student	The second secon	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Applications Tuition Fee	Type: Fres Other Fee	Total Fee	Total Amount
14894	68 KAVITA MARKAN	1	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
15046	57 SHASHIKALA MA	RKAM	Female	B. Sc./Science/I	Fresh	. 9	300	2700	0	1303	1303	4003
15074	69 SARASWATI DH	URVE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
15118	03 PRITA MARKAM		Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1491	82 MADHURI MERA	VI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1530	11 USHA DHURWE	1	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1514	51 SANGEETA DHU	RVE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
15140	065 PUSHPA MARAK	AM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1541	948 MADHURI MERA	VI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1535	751 OMSARI NETAM		Female	B. Sc./Computer Science/I	Fresh	10	300	3000	0	1303	1303	4303
1548	145 KHUSHBU DHUR	WE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1539	327 MAMTA DHURW	E	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1539	151 SUNEETI NETAM	1 0	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1519	552 ANUPA MARAVI	Ì	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1273	1273	4273
1538	72 MANJU DHURWE		Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
15529	16 NEHA DHURVE	- 1	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1520:	60 SURUJ DHURVE	1	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
15507	24 UMA NETAM	11	Female .	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
Declaration :												

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period (t is detected.

Place: Date:



of Chhattisgarh

Scholarship Scheme Post Matric ST Scholarship

Category

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

State

Government of Chhattisgarh

Sanction Number

N/8/2411/2/7/87577

Sanction Date

26/03/2019

KAWA	ARDHA							Type Fresi		
Application ID Student Name		Course	Туре	No. of	The second second second	intenence Howance	Applications Tuition Fee	1 100		Total Amount
				Honth	300	2700	0	1303	1303	4003
1575785 ANUSUIYA DHURWE	Female	B. Sc./Science/I	Fresh		300	3000	0	1303	1303	4303
1574616 KANTI DHURVE	Female	B. Sc./Science/I	Fresh	10		3000	0	1273	1273	4273
1579664 ASHWANI DHURVE	Female	B. A./Arts/I	Fresh	10	300	2700	0	1303	1303	4003
1551792 LAXMI DHURWEY	Female	B. Sc./Science/I	Fresh	9	300	3000	0	1273	1273	4273
1567012 DASHODA DHURVE	Female	B. A./Arts/I	Fresh	10	300		0	1273	1273	4273
1586317 NOMIKA MERAVI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1488236 GAYATRI DHURVE	Female	B. A./Arts/I	Fresh	10	300	3000		1303	1303	6433
1514426 POOJA DHURWEY	Female	B. Sc./Science/1	Fresh	9	570	5130	0	1303	1303	7003
1510519 BISHWANTIN MASRAM	Female	B. Sc./Science/1	Fresh	10	570	5700	0		1273	6973
1512689 SAKUNLATA DHURWEY	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273		6973
1514528 MAHESHVARI DHURWE	Female	B. A./Arts/1	Fresh	10	570	5700	0	1273	1273	7003
1512641 JYOTT PARASTE	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1303	1303	
1512662 BHARTI KUSHRE	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1303	1303	7003
1511009 SUNITA SHYAM	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1303	1303	7003
1509851 SONIYA DHURWE	Female	B. Sc./Science/1	Fresh	10	570	5700	0	1303	1303	7003
1510269 RAMKUMARI KORAS	Female	B. Sc./Science/1	Fresh	10	570	5700	0	1303	1303	7003
1522018 RESHAM DHURWE	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273	1273	6973
1567460 JANMATI MARKAM	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1303	1303	7003

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .......Out of which Rs......as maintenance allowance and Rs. ..... ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place Date

Page 3/4

(Signature & Set | Signature of the Institution) Danidha, Distr.-Kabirdham (C.G.

This Sanction is generated by Scholarship Portal. Printed on 9/14/2019

of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

State

Government of Chhattisgarh

Sanction Number

N/8/2411/2/7/87577

Sanction Date

26/03/2019

Academic Year: 2018-19							Applications	Type: Fres	sn	
Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1529942 DASHODA MARKAM	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273	1273	6973
1570522 DEVKI DHURVE	Female	B. A./Arts/I	Fresh	8	300	2400	0	1273	1273	3673
13703EE DEVIL DITORVE	remaie	51711/11 2/2			Total:	192630	0	70735	70735	263365

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs. .....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period if is detected.

Place:

Date:

ardha, Distr.-Kabirdham (C.G.



for Scholarship

scholarship Scheme Post Matric ST Scholarship

> Category ST

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

Academic Year 2018-19

ettisgarh



State

Government of Chhattisgarh

Sanction Number

R/8/2411/2/7/87662

Sanction Date

25/03/2019

Application ID Student Name	Gender	Course					Applications Type	Dane :		
12026		Course	YP	No. at	Rate	Maintenence 1	fultion Fee Other			
1392661 DEVKI TEKAM	Female	B. A./Arts/III	Renewal			Allowance	GENE	ree To	al Fee	Total Amount
1270794 TANNU DHURVE	Female	B. A./Arts/III		8	300	2400	0	1273	1273	2600
1461376 RITU MARKAM	Female		Renewal	8	300	2400	0	1273		3673
1513677 SUMITRA DHURVEY	-	B. A./Arts/III	Renewal	8	300	2400	0		1273	3673
1429141 PUSHPLATA DHURWE	Female	B. A./Arts/II	Renewal	8	300	2400	-	1273	1273	3673
1403338 SUSHILA NETAM	Female	B. A./Arts/II	Renewal	8	300	2400		1273	1273	3673
	Female	B. A./Arts/II	Renewal	8	300	100.5		1273	1273	3673
1247337 Shweta Dhurwe	Female	B. A./Arts/III	Renewal	8		2400	0	1273	1273	3673
1516880 SUSHMA DHURWE	Female	B. Sc./Computer Science/II		-	300	2400	0	1273	1273	3673
1261105 KALESHWARI DHRUVE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1303	1303	3703
1326232 JAGAUTIN DHURVE	Female	B. A./Arts/II		8	300	2400	0 1	273	1273	3673
1339590 SHIV KUMARI DHURWEY	Female	B. A./Arts/II	Renewal	8	300	2400	0 1	273	1273	3673
1400197 GAYTRI DHURWE	Female		Renewal	8	300	2400	0 1	273	1273	
1559481 CHITDENHA DUNDAN		B. A./Arts/III	Renewal	8	300	2400		273		3673
1530603 NTPMALA DEG	Female	B. Sc./Science/II	Renewal	8	300	2400			1273	3673
	Female	B. A./Arts/II	Renewal	8	300	2400	- /	303	1303	3703
	Female	B. A./Arts/III	Renewal	8	300		-	273	1273	3673
	Female	B. Sc./Science/II	Renewal	8	300	2400	0 12	273	1273	3673
1379412 TALESHWARI CHHEDAVI	Female	B. A./Arts/III	Renewal ·			2400	0 13	03	1303	3703
			richera	8	300	2400	0 12	73	1273	3673
claration :										

## Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period /t, is detected.

Place : Date :

(Signature & Sept of head of the Instigution)

wardha, Distr.-Kabirdham (C.G.

ent of Chhattisgarh

Scholarship Scheme

Institute Name

Post Matric ST Scholarship

Category

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Government of Chhattisgarh

Sanction Number:

R/8/2411/2/7/87662

Sanction Date: 25/03/2019

1 - 34	Academic Year	2018-19						nalications T	una i Dana	1	
Appli	cation ID		er Course	Туре	No. of			pplications T tion Fee O		CONTRACTOR OF THE PERSON NAMED IN	Total Amount
	1364427 MFTHALA DHURVE	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703
	1351613 PURNIMA NETAM	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703
	1497309 DAMESHWARI MAR	RKAM Female	B. Sc./Science/III	Renewal	8	300	2400	0	1303	1303	3703
	1273204 NEHAVATI DHURW	'EY Female	B. Sc./Science/III	Renewal	8	300	2400	0	1303	1303	3703
	1171711 JALESHWARI DHUF	RWE Female	B. Sc./Science/III	Renewal	8	300	2400	0	1303	1303	3703
	1515284 SARASWATI PORTE	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703
	1349852 LALITA DHURWE	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703
	1555437 GEETA DHURVE	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
	1367034 DINESHIYA DHURW	/E Female	B. Sc./Science/II	Renewal	8	570	4560	_0	1303	1303	5863
	1340931 SAVITA PORTE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	1341538 ANT KUMARI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	1367029 DURGAVATI DHURV	VE Female	B. A./Arts/II	Renewal	. 8	300	2400	0	1273	1273	3673
	1487162 PRAMILA DHURVE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	1566005 SHANTI PARTETEE	Female	B. A./Arts/II	Renewal	8	570	4560	0	1273	1273	5833
	1339389 DEVBATI NETAM	Female	B. Sc./Science/II	Renewal	8	570	4560	0	1303	1303	5863
	1268859 NANDANI DHURVE	Female	B. Sc./Science/III	Renewal	8	570	4560	0	1303	1303	5863
•	1278440 MADHURI MERAVI	Female	B. A./Arts/III	Renewal	8	570	4560	0	1273	1273	5833
	1270965 MAMTA DHURWEY	Female	B. Sc./Science/III	Renewal	8	570	4560	0	1303	1303	5863

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date :

(Signature & Series Gera of the Institution) Name (CRANTE Cor Girls Gellege

Mowardha, Diate,-Kabirdham (C.G.



ent of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name :

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

**KAWARDHA** 

Government of Chhattisgarh

Sanction Number :

R/8/2411/2/7/87662

Sanction Date :

25/03/2019

Academic Year: 2018-19 Applications Type: Renewal

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
1339392 KAVITA TEKAM	Female	B. A./Arts/II	Renewal	8	570	4560	0	1273	1273	5833
1348600 SAVITA PARASTE	Female	B. A./Arts/III	Renewal	8	570	4560	0	1273	1273	5833
1330313 JANKI DHURVE	Female	B. Sc./Science/III	Renewal	8	570	4560	_0	1303	1303	5863
					Total:	110640	0	48824	48824	159464

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs. .....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period jt is detected.

Place:

Date:

night - Kebirdham (C.G.



ant of Chhattisgarh

Scholarship Scheme Post Matric SC Scholarship

Category

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

Academic Year 2018-19

State

Government of Chhattisgarh

Sanction Number

N/8/2411/1/9/88017

Sanction Date

25/03/2019

Fresh Applications Type

Amount
and the second
6973
7003
7003
6973
7003
7003
3973
3973
3973
4003
4273
3973
4273
3973
3973
3973
3973

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place Date :

with Plot -Kabirdham (G.G.

of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category SC

Institute Name: G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

State:

Government of Chhattisgarh

Sanction Number

N/8/2411/1/9/88017

Sanction Date :

25/03/2019

TOTALLO										
Application ID Student Name	Gender	Course	Туре	No. of Month	Rate I	Maintenence Allowance	Applications Tuition Fee	Type Fres Other Fee	Total Fee	Total Amount
1483298 MALTI CHELAK	Female	B. A./Arts/I	Fresh	Montal 10	300	3000	0	1273	1273	4273
1496504 JALESHWARI CHATURVEDI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1492332 PUSHPANJALI KOSHLE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1483413 SHARMILA DINDORE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1494012 RAJANI KOSALE	Female	B. Sc./Computer Science/I	Fresh	10	300	3000	0	1303	1303	4303
1503840 JAMESHWARI KOSARIYA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1492369 GANGOTRI MARKHANDEY	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1273	1273	4273
1509188 MANJU BAGHEL	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
1509188 MANDU BAGNEE 1517815 SANJITA GHRITLAHARE	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1273	1273	4273
1517815 SANJITA GHRITAHARE 1519164 KAUSHILYA KATHLE	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
1535301 DAMINI RATRE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1509959 ANJALI SONWANI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	1273	1273	3973
<ul> <li>1588317 BABITA GENDRE</li> <li>1588481 FULWA SATYAWANSHI</li> </ul>	Female	B. Sc./Computer Science/I	Fresh	10	300	3000	0	1303	1303	4303
1492395 JUHI BANJARE	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
1492395 JUHI BANJARE 1498573 BHAGVATI BHATT	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1512591 MUKESHWARI LAHRE 1508874 DASHMAT KURRE	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003

#### Declaration:

Place : Date : (Signature & Seal of Head of the Institution Name (Capital Leters) Distr-Kabirdham (C.G.



of Chhattisgarh

Scholarship Scheme : Post Matric SC Scholarship

Category SC

Institute Name: G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA



State:

Government of Chhattisgarh

Sanction Number

N/8/2411/1/9/88017

Sanction Date : 25/03/2019

	Acad	emic Year : 2018-19								Type: Fres	n e e e e e e e e e e e e e e e e e e e	Total Amount
Applica	ation ID	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	1496735 LIGES	HWARI BANJARE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1481432 SANJU		Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1273	1273	4273
		ABHARTI PATRE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
				B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
		SHASHI MATHUR	Female		Fresh	9	300	2700	0	1273	1273	3973
	1506001 DURP		Female	B. A./Arts/I	Fresh	10	300	3000	0	1303	1303	4303
	1498550 SAV∏		Female	B. Sc./Science/I	Fresh	9	300	2700	0	1273	1273	3973
		ESHWARI KURRE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1497298 CHAM		Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1477531 LALIT		Female	B. A./Arts/I		9	300	2700	0	1303	1303	4003
	1535955 JAGR		Female	B. Sc./Science/I	Fresh	10	300	3000	0	1273	1273	4273
	1481446 PADM	MANI GHRITLAHARE	Female	B. A./Arts/I	Fresh		300	3000	0	1303	1303	4303
	1564576 RUPA	OGRE	Female	B. Sc./Science/I	Fresh	10			0	1273	1273	3973
	1503033 NAM	TARA GENDRE	Female	B. A./Arts/I	Fresh	9	300	2700				
	1587726 MADE	HU DAHARIYA	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1273	1273	4273
	1580113 GAYT		Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
	1578070 MON		Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1579346 BHAR		Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1585878 HINA		Female	B. Sc./Science/I	Fresh	9	300	2700		1303	1303	4003

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .......Out of which Rs......as maintenance allowance and Rs. .......as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

(Signature & Sear Or Head of the Internation)
Name (Capital Leters)

Page 3/5

at of Chhattisgarh

Scholarship Scheme : Post Matric SC Scholarship

Category: SC

Institute Name: G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

**KAWARDHA** 

State: Government of Chhattisgarh

Sanction Number: N/8/2411/1/9/88017

Sanction Date: 25/03/2019

	IVAVV.	INDIA									
Appl	Academic Year : 2018- ication ID Student Name	9 <b>Gender</b>	Course	/ Type	No. of	Rate	Maintenence	Applications Tuition Fee	Type : Free	Total Fee	Total Amount
					Month		Allowance	A STATE OF THE STA	2 4		
	1498590 KALYANI KURRE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
•	1553416 ARTI GANDHARW	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1576792 AMROUTIN TANDAN	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
	1577578 MITHLA PATRE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
	1542489 LAXMI KOSLE	Female	B. Sc./Computer Science/I	Fresh	10	300	3000	0	1303	1303	4303
	1563619 DIMPLE BANJARE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1510281 AARTI SONWANI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1550117 PURNIMA JANGDE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1574887 PARMESHVARI PATRE	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
	1576412 PRIYANKA GHRITLAHARE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1573429 KAJAL NARANG	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
	1496213 UTTRA OGHARE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
	1514219 MITHLESH CHATURVEDI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1529497 LALITA BANJARE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
	1544912 SONIYA MIRAJ	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1507085 NEELAM TANDAN	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
	1490599 PURNIMA GENDRE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	1532928 INDRANI JANGDE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973

#### **Declaration:**

Place : Date : (Signature & Seapping A the Institution)
Name (Capital Mes) Girls Gollege
Warrandha Distc-Kabirdham (G.G.



of Chhattisgarh

N/8/2411/1/9/88017

Government of Chhattisgarh

Scholarship Scheme Post Matric SC Scholarship

Category

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

Sanction Number

KAWARDHA

Sanction Date 25/03/2019

State

Academic Year 2018 19						Α.	oplications T	ype Fresh		
Student Name	Gender	Course	Туре	No. of	Rote Ma	intenence Tull	ion Fee O		The second secon	Total Amount
1549395 SWANI KHARE	Female	B. A./Arts/I	Fresh	, Flomen	300	Nowance 2700	0	1273	1273	3973
1483518 UTTRA DINDORE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1567071 RADHA BARMATE	Female	B. A./Arts/I	Fresh	q	300	2700	0	1273	1273	3973
1566334 ROSHANI DIWAKAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1545688 NEELAM JANGDE	Female	B. Sc./Science/1	Fresh	9	300	2700	0	1303	1303	4003
1486863 SAPNA KHANDE	Female	B. Sc./Computer Science/1	Fresh	10	300	3000	0	1303	1303	4303
1486808 PULESHWARI ADILE	Female	B. Sc./Computer Science/I	Fresh	10	300	3000	0	1303	1303	4303
1509926 DURGESHWARI MAHIPAL	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1488545 HEM KUMARI BANJARE	Female	B. Sc./Computer Science/I	Fresh	10	300	3000	0	1303	1303	4303
1548201 RAKHI KOSRE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1553213 INDRANI KURRE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1545670 KALPANA BANJARE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1525095 LAXMI DONDEY	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1541196 SEEMA MATHUR	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1539710 NEMIN TANDAN	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1273	1273	4273
					Total:	262800	0	110318	110318	373118

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ...............Out of which Rs.......as maintenance allowance and Rs. ......as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place Date

Page 5/5

(Signature & Seal of Man (Signature & Seal of ayardha, Distr.-Kabirdham (C.G.

# ter for Scholarship

anactisgarh

Scholarship Scheme : Post Matric SC Scholarship

Category: SC

Institute Name: G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/2411/1/9/88286

Sanction Date: 25/03/2019

Applications Type: Renewal

	Academic Year: 2018-19							прриссия			
App	plication ID Student Name	Gende	Course	Type	No. of		Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
			D. A. (Asta/IX	Dangwal	Montai 8	300	2400	0	1273	1273	3673
	1518564 RADHIKA TANDAN	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	1526898 MANISHA WARTE	Female	B. A./Arts/III	Renewal			2400	0	1273	1273	3673
2	1521615 INDRANI KHARE	Female	B. A./Arts/III	Renewal	8	300	2400	- 0	1303	1303	3703
•	1507906 SUSHILA GHRITLAHRE	Female	B. Sc./Science/II	Renewal	8	300	Section 1	0	1273	1273	3673
	1343593 AHILYA DONGRE	Female	B. A./Arts/II	Renewal	. 8	300	2400	0	1303	1303	3703
	1518455 SHARMILA MIRE	Female	B. Sc./Science/II	Renewal	8	300	2400	100 100	1303	1303	3703
	1330391 NEELU KURRE	Female	B. Sc./Science/III	Renewal	8	300	2400	0		1273	3673
	1486718 SAVITA SATNAMI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	1518331 NITIN DAHARIYA	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273		3673
	1489099 RAVINA BAJAJ	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3703
	1517802 PURNIMA GHATHOLE	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	
	1247505 ANJALI BHASKAR	Female	B. Sc./Science/III	Renewal	8	300	2400	0	1303	1303	3703
		Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	1519808 RADHA MIRI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	1330928 KHETESHWARI BANJARE	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
	1276520 DURGA SONLE		B. Sc./Computer Science/III	Renewal	8	300	2400	0	1303	1303	3703
	1058825 ANITA OOO	Female		Renewal	8	300	2400	0	1273	1273	3673
	1550042 SAHIBIN RATRE	Female	B. A./Arts/II	Keriewar	Ü						

#### Declaration:

Place :

Date :

(Signature & Seal of Philipson in Signature & Seal of Philipson in



chhattisgarh

Scholarship Scheme

Post Matric SC Scholarship

Category

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

State

Government of Chhattisgarh

Sanction Number

R/8/2411/1/9/88286

Sanction Date

25/03/2019

•	Anadamia Vana 2018 10					Applications	Type Ren	ewal			
Applica	Academic Year : 2018-19 ation ID Student Name	Gender	Course	Туре	No. of	Rate	Maintenence Allowance	Tuition Fee		Total Fee	Total Amount
	1265940 SHITLA MIRE	Female	B. Sc./Science/III	Renewal	8	300	2400	0	1303	1303	3703
	A B B B B B B B B B B B B B B B B B B B	Female	B. Sc./Science/III	Renewal	8	300	2400	0	1303	1303	3703
	1550373 HEMLATA PATRE		B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	1353895 NANDNI BARMAN	Female	995 (2.00%) 10.00%	Renewal	8	300	2400	0	1273	1273	3673
	1403905 GANGA MARKHANDE	Female	B. A./Arts/II		8	300	2400	0	1273	1273	3673
	1547124 GAURI OGRE	Female	B. A./Arts/III	Renewal		300	2400	0	1273	1273	3673
	1540372 PREETI BARLE	Female	B. A./Arts/II	Renewal	8			0	1273	1273	3673
	1538987 KAMAL NARANGE	Female	B. A./Arts/II	Renewal	8	300	2400				
	1547599 AASHA MOHALE	Male	B. Sc./Science/III	Renewal	8	300	2400	0	1303	1303	3703
	1535513 PARWATI PNAGAR	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
	1325837 KAVITA RANADY	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	1364495 NEETU BANJARE	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
	483741 RAJKUMARI BHASKAR	Female	B. Sc./Science/III	Renewal	8	300	2400	0	1303	1303	3703
	1247636 SHAKUNTLA SONWANI	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
	1493283 SITA GHRITLAHRE	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1303	1303	4003
•	1525730 DEEPIKA TANDAN	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703
	1535782 SAROJANI BANJARE	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703
	1385424 MEENU KURRE	Female	B. Sc./Science/III	Renewal	8	300	2400	0	1303	1303	3703
	1503470 SANTOSHI BANJARE	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs. .....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

(Signature & Seal Printellan) Name (Capital Lenes: Girls Gellege

Lardha, Distr.-Kabirdham (C.G.

chhattisgarh

State

Government of Chhattisgarh

Sanction Number

R/8/2411/1/9/88286

Sanction Date

25/03/2019

Scholarship Scheme : Post Matric SC Scholarship

Category:

SC

Institute Name: G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Applications Type Renewal Academic Year: 2018-19 **Total Amount** Total Fee Other Fee Application ID Student Name Gender Course Type Rate Maintenence Tuition Fee No. of Month Allowance 3703 0 1303 1303 1521427 POOJA BHARTI 2400 Female B. Sc./Science/III 8 300 Renewal 3673 1273 1273 2400 0 1333950 PINKEE KOSARIYA 300 Female B. A./Arts/II Renewal 8 3673 1273 1375681 ANNU KOSALE 300 2400 0 1273 Female B. A./Arts/II 8 Renewal 1303 3703 0 1303 300 2400 1122747 Jyotish Banjare Female B. Sc./Computer Science/II 8 Renewal 3673 1273 1273 0 1600687 SHANU HATHALE Female B. A./Arts/II Renewal 300 2400 3673 2400 0 1273 1273 1336023 VARSHA KOSHLE B. A./Arts/III 8 300 Female Renewal 3673 1273 1273 8 300 2400 0 1373468 SANGEETA GANDHARAV B. A./Arts/II Renewal Female 1273 1273 3673 1275649 BHARTI KOSLE Female B. A./Arts/III Renewal 8 300 2400 0 0 1273 1273 3673 1257008 ARTI DAHARIYA Female B. A./Arts/III Renewal 8 300 2400 8 1273 1273 3673 1515484 DEEP KUMARI BANJARE Female B. A./Arts/III Renewal 300 2400 0 619279 LATA LANJHI Female B. A./Arts/III Renewal 8 300 2400 n 1273 1273 3673 1403382 SEEMA KOSLE B. A./Arts/III Female Renewal 8 300 2400 0 1273 1273 3673 1131523 MAMTA CHELSE B. A./Arts/III Female 8 Renewal 300 2400 0 1273 1273 3673 1580182 JAIBHARTI JANGDE Female B. A./Arts/III Renewal 8 300 2400 0 1273 1273 3673 1572717 NEELU DILAWAR Female B. Sc./Science/II Renewal 8 300 2400 0 1303 1303 3703 1343416 KU KALASH Female B. A./Arts/II Renewal 8 300 2400 0 1273 1273 3673 1379949 BABY MIRE B. A./Arts/II Female Renewal 8 300 2400 0 1273 1273 3673 1505738 RAVEENA BANJARE Female B. A./Arts/III Renewal 8 300 2400 0 1273 1273 3673

#### Declaration:

Place :

(Signature & Seal of Head of the Institution)
Name Quap to Veters, Girls College
The Distr.-Kabirdham (C.G.



scholarship Scheme: Post Matric SC Scholarship

Category SC

Institute Name : G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

State: Government of Chhattisgarh

Sanction Number: R/8/2411/1/9/88286

Sanction Date: 25/03/2019

	Academic Year :	2018-19							Applications	s Type : Ren	newal	
Applic	ation ID Student	Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee		Total Fee	Total Amount
	1182302 SHAILENDRI GAR	RHEWAL Fe	emale B.	Com./Commerce/II	Renewal	8	300	2400	0	1273	1273	3673
	1372649 PRATIBHA NARA	NGE Fe	emale B.	A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
	1343431 UNMA MIRAJ	Fe	emale B.	A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	1527295 SHASHI KURRE	Fe	male B. S	Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703
	1520549 SONAL KURRE	Fe	male B. /	A./Arts/II	Renewal	8	570	4560	0	1273	1273	5833
	1341780 SHUSHMA DAHIR	RE Fe	male B. S	Sc./Computer Science/II	Renewal	8	570	4560	0	1303	1303	5863
	1520665 MAHESHWARI GE	ENDRE Fei	male B. A	A./Arts/II	Renewal	8	570	4560	0	1273	1273	5833
	1321602 NILESHWARI JAN	NGDHE Fer	male B. S	Sc./Science/II	Renewal	8	570	4560	0	1303	1303	5863
	1242135 KUNTI LAHRE	Fer	male B. S	sc./Science/III	Renewal	8	570	4560	0	1303	1303	5863
	1531052 SANJEETA MAHIL	ANGE Fer	male B. A	./Arts/III	Renewal	8	570	4560	0	1273	1273	5833
	1333830 ragini baghel	Fer	male B. S	c./Science/II	Renewal	8	570	4560	0	1303	1303	5863
	1503933 ANJANI BARMAN	Fer	male B. A	./Arts/III	Renewal	8	570	4560	0	1273	1273	5833
	1330132 DILESHWARI KOS	SHLE Fen	male B. A	./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	1337902 SEEMA ANAND	Fen	nale B. A.	/Arts/II	Renewal	8	570	4560	0	1273	1273	5833
	1505976 SUKHMATI SONW	/ANI Fen	nale B. A.	/Arts/III	Renewal	8	300	2400	0	1273	1273	3673

#### Declaration:

Total:

182940

Place :

Date :

(Signature & Septimi General the Institution)

87254

87254

270194

Comunication Distr.-Kabirdham (C.G.